Answers to Selected Problems

Chapter 14

14.1(a)& (b) without working capital, PW(15%) = $4,137; 

             With working capital, PW(15%) = $3,281

        (c) X = $35,150

14.5(a): Option 1: PW(15%) = -$1,614,305, Option 2: PW(15%) = -$2,919,840

       (b) Option 2 is a better choice.

14.9: 52.24%

14.14: 24,867,011 copies per year

14.16(b): E[PW] = $864, Var[PW] = 827,904

14.20: (a) Contract A: E[PW] = $40,000, Var[PW] = 1,400,000,000

                 Contract B: E[PW] = $13,000, Var[PW] = 381,000,000

(b) 0.72

14.24(a): EVPI = $218,686

